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There is a total of 250 men, women and children on a train.
The ratio of men to women is 4 : 5.
The ratio of women to children is 10 : 7.

How many men are on the train?
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18 A box contains only red, blue and green pens.

The ratio of red pens to blue pens is 5: 9.
The ratio of blue pens to green pensis 1 : 4.

Calculate the percentage of pens that are blue.
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11 Some biscuits contain only three ingredients: flour, butter and sugar.
R1Ba *  The ratio of flour to butter is 5 : 4.
R15b The ratio of butter to sugaris 2 : 1.

The total weight of the flour, butter and sugaris 770g.

Work out the weight of each of the ingredients.
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In a box of mixed nuts, the total number of almonds, cashews and peanuts is 1025.

The ratio of almonds to cashews is 1 : 3.
The ratio of cashews to peanutsis 5: 7.

Calculate the number of cashews in the box.

R15a
R15b
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6 In abox of mixed nuts, the total number of almonds, cashews and peanuts is 1025.
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22 There are only blue pens, green pens and red pens in a box.

The ratio of the number of blue pens to the number of green pensis 2 : 5
The ratio of the number of green pens to the number of red pens is 4 : 1

There are less than 100 pens in the box.

What is the greatest possible number of red pens in the box?

(Total for Question 22 is 3 marks)
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20 In a village

the number of houses and the number of flats are in the ratio 7 : 4
the number of flats and the number of bungalows are in the ratio 8 : 5

There are 50 bungalows in the village.

How many houses are there in the village?

(Total for Question 20 is 3 marks)
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20 In a village
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12 The points 4. B, C and D lie in order on a straight line.

AB:BD=1:5
AC:CD=17:11

Work out AB:BC:CD

(Total for Question 12 is 3 marks)
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R15b How many times bigger is 5 than ¢7?
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Answer
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[2 marks]




13 e:f=2:3 and f:g=5:4

Workout e:g

Give your answer in its simplest form.
[3 marks]

Answer
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Give your answer in its simplest form.
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